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Read the instructions and do as directed.                              

I) Read the questions carefully and circle the correct option.                           

1) What is the Sum of the Place Value and the Face Value of 5 in the number 6,52,830? 

 
     (a) 5,005                 (b) 50,005                (c) 5,050                  (d) 50,050  

 
2) The smallest 6- digit number formed using the digits 0,1, 2, 6, 7, and 9 is 
 

     (a) 012,679             (b) 2,01,679              (c) 1,02,679              (d) 9,76,210 
 
3) The Product of 0 and any number is __________ 

 
     (a) 0                       (b) 1                        (c) 10                        (d) the number itself           
      

4) 632 x 300 is equal to  
 
     (a) 1,86,600            (b) 1,98,600              (c) 18,960                  (d) 1,89,600 

 
5) Which of the following figures is the reflection of the other? 
 

     (a)                         (b)                            (c)                             (d) 
 

 
 
 

6) A rectangle has ________ lines of symmetry. (Complete the statement.) 
 
    (a) 1                        (b) 2                          (c) 3                           (d) 4 

  
7) Which of the figures given below represents Ray PQ? 
 

     (a)                           (b)                             (c)                             (d)   
          L         M                     P         Q                   Q         P                   A         B 
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8) Which among the given shapes is a closed shape? 
 

     (a)                               (b)                         (c)              (d)     
 
 

     
 
II. Do as directed. 
 
1) Match the following.      

                                                                                            

a) The greatest 6- digit number 1) 5,60,479 

b) 8,999 rounded off to the nearest 10s gives 2) 5,60,357 

c) Five lakh sixty thousand four hundred seventy-nine 3) 9,99,999 

d) 5,00,000 + 60,000 + 300 + 50 + 7 4) 9,000 

 

Ans: (a) _____      (b) _____ ((c) _____        ((d) _____ 
 

2)  Read the following statements and mark them as True or False. 

    
 

3) Name the following from the picture of the circle 
given alongside.  

                                                

  

(a) A line does not have a beginning or an end.    

(b) A square is not a quadrilateral.  

(c) Any line from the centre to the circle is a radius of the circle.  

(d) The diameter of the circle is half of the radius of the circle.  

(a) Centre  

(b)  A radius  

(c)   Diameter  

(d) Points outside the circle  

(e) Points inside the circle  

(f)  Points on the circle  
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4.  Complete the given series to form a pattern. 

 

 

 

5. Use the code given below to read the following message. 

Code 

z a b c d e f g h i j k l m n o p q r s t u v w x y 

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z 
 

Message 

z k k  s g d  a d r s  e n q  x n t q  d w z l r 

                           

 

6. Read the story sums given below and identify the operation you should use to 

find the correct answer. Put the correct sign (+, –, or x ) in the box.  

(a) The Eiffel Tower in Paris is 330 meters tall. The Chrysler building in New York 

is 320 meters tall. How much taller is the Eiffel Tower than the Chrysler 

Building? 

 

(b) A bookshop sold 150 books on Monday and 750 books on Tuesday. How 

many books did the bookshop sell on both days? 

 

(c) A car company produced 90,000 cars in a year. If 78,000 cars were sold by 

the end of the year, how many cars were left unsold? 

 

(d) Mandy packed 7kg of salt in a bag. If he packed 5 such bags, how many kg 

of salt did he pack in all? 
 

 

7. Fill in the blanks with the correct answer. 

1.  A letter H has _______________________ line/lines of symmetry. 

2. The length around a circle is called its _____________________. 

3. If the diameter of a circle is 10 cm then the radius of the circle is _________ cm. 

4. The closed figures made up of straight-line segments are called _____________________. 

(a)         

(b) 63 56 49 42     
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8. Write the number name for 5,85,210. 

 ___________________________________________________________________________ 

 ___________________________________________________________________________ 

9. Write the Expanded Form for 76,892. 

 ___________________________________________________________________________ 

 ___________________________________________________________________________ 

10. Arrange the given numbers in ascending order. 

      56,876;                     56,768;                    56,786;                   56,867 

 ___________________________________________________________________________ 

 ___________________________________________________________________________ 

III. Solve the following.  

1) Arrange and add.  44,897 + 39,607 

  

 

  

 

 

 

2) Subtract and check your answer. 

     76,300 – 35,928                                                                         Check 

    

 

   

   

                                                                                                                                  

 

 

 

 TTH TH H T O 

      

      

      

      

 TTH TH H T O 

      

      

      

      

 TTH TH H T O 
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3) Find the product. 

        i)  2640 x 8                                                        ii) 709 x 36                                             

  

 

 

 

 

 

 

4. Solve the given word problems. 

(a) Mandy had saved ₹ 15,750 for a vacation. He spent ₹ 4825 on tickets and accommodation. 

How much money is left now? 

 

  

  

  

  

  

  

 

 

 

 

 

 TH H T O 

     

     

     

     

 TH H T O 
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(b) A grocer bought 75 sacks of rice. If the price of each sack is ₹ 950, how much did he 

pay in all? 

 

  

  

  

  

  

  

.  

 

All the best for the exam! 


